G3-M2-Lesson 20

Esther measures rope. She measures a total of 548 centimeters of rope and cuts it into two pieces. The first
piece is 152 centimeters long. How long is the second piece of rope?

a. Estimate the length of the secend piece of rope by rounding.

348 cm ~ 500 cm I can round-each number to the nearest

152 cm » 200 cm hundred for my first estimate. | notice that
both numbers are far from the hundred.

S0 cm — 200 cm = 300 cm

The second piece of rope Is obout 300 cm long.

b. Estimatethe length of the second piece of ribbon by rounding in a different way.

R4Bcm = 550 cm

152 em =~ 150 cm _ i can round each number to the nearest
ten for my second estimate. Wow,
both numbers are close to the fifty!

550 cm — 150 cm = 400 cm This makes it easy to calculate.

The second piece of rope is about 400 cm Jong,

c. Precisely how long is the second piece of rope?

4 14
“8 CI .. Before | am ready to subtract, | can
unbundie 1 hundred for 10 tens,
-152 cm

396 cm

The second piece of rope is precisely 396 cm long.
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d. Is your answer reasonable? Which estimate was closer to the exact answer?

Rounding to the negrest ten wos closer to the exact answer, and it was easy mental math, The
estimate wos onfy 4 cm awey from the actualonswer. 5o that's how | know my answer is
reasonabie.

Cornparing my actual answer with my estimate helps me
check my calculation because if the answers are very
different, I've probably made a mistake in my:calculation.
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